





इन्दिरा गांधी राष्ट्रीय कला केन्द्र सत्रधार

INDIRA GANDHI NATIONAL CENTRE FOR THE ARTS

Sutradhara

Janpath, New Delhi-110 001 Tel.: 91-11-23388280 Website: www.ignca.nic.in

F .No. 7/1(2)/2022-23/SD/EMU Date: - 10.11.2023

Subject: - Repair of Toilets in Flat No. 120 at Asiad Games Village, IGNCA.

## **Notice Inviting Quotation**

Sealed percentage rate quotations are invited on behalf of Indira Gandhi National Centre for the Arts (IGNCA), New Delhi for the work mentioned above.

Quotations duly filled signed and sealed as mentioned in Schedule of quantity (Annexure - A) shall be submitted manually in the office of the PPS/Incharge, Estate Management Unit, IGNCA, Janpath Building New Delhi-110001 by 13.11.2023 on or before 03:00 pm.

The terms & conditions are applicable on above mentioned work as mentioned on **Annexure – B**.

(D R Juyal)
PPS/Incharge(EMU)

Indira Gandhi National Center for the Atte New Politics

	Indira Gandhi National Center for the Arts,	Inne	Xure	e-A)		
S.no.	The state of the s					
1	Description of Items	Qnty	Unit	Rate	Amount	
	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings This includes jointing of pipes & fittings with one step CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in Charge. 20 mm nominal dia Pipes	80.00	Meter	275.25	22020.00	
	Providing and fixing Polyvinyl Chloride (PVC) pipes,					
2	having thermal stability for hot & cold water supply, including all PVC plain & brass threaded fittings, including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & fittings with one step PVC solvent cement and testing of joints completeas per direction of Engineer in Charge. 110 mm nominal dia Pipes	40.00	Meter	784.00	31360.00	
3	Providing and fixing uplasticised PVC connection pipe with brass unions: 15 mm nominal bore	12.00	each	85.20	1022.40	
4	Providing and fixing C.P. brass angle valve for basin mixer and geyser points of approved quality conforming to IS:8931. 15mm nominal bore	16.00	each	500.35	8005.60	
5	Providing and fixing Hand shower (Health faucet) 8mm dia 1.2 meter long make or equivalent to as approved by Engineer-in-Charge.	3.00	each	1,428.00	4284.00	
6	Providing and fixing wall shower 8mm dia of approved make or equivalent to as approved by Engineer-in-Charge.	2.00	each	1,200.00	2400.00	
7	Providing and fixing wall mix tap of approved make or equivalent to as approved by Engineer-in-Charge.	2.00	each	4,000.00	8000.00	
8	Providing and fixing counter top wash basin to be mounted over the 18 mm thick Granite of approved colour, the granite should be engraved properly in the wall and double moulding shall be done on the face, brass pillar taps, 32 mm C.P. brass waste of standard pattern, floor trap including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Wash basin size 550x400 mm with a pair of 15 mm C.P. brass pillar taps. The work will be done as per the engineer of Engineer In Charge.The design, colur of granite, make of fitting/fixtures etc must get approved by the Engineer in Charge before installation.	1.00	Job	4,500.00	4500.00	
9	Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat, lid and attached ceramic flushing cistern, including flush pipe, floor trap with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required: W.C. pan with ISI marked white solid plastic seat and lid, the work will be done as per the direction of Engineer In Charge. The design, colur of granite, make of fitting/fixtures etc must get approved by the Engineer in Charge before installation.	1.00	each	20,000.00	20000.00	

## Terms & Conditions:-

- 1. The work shall be executed as per CPWD specification.
- 2. No secured advance etc. shall be paid or allowed to the contractor.
- 3. The rates quoted by the vendor are including of all Taxes/GST etc and nothing shall be paid on account of any taxes what so ever.
- 4. In the case of Extra Item(s) & substituting items being the schedule items (Delhi Schedule of Rates items), these shall be paid as per the DSR rate plus or minus enhancement or abutment.
- 5. The vendor will have to observe all the prevalent laws including contract labor laws, safety laws etc.
- 6. No escalation on account of increase of labor wages or material is admissible.
- 7. No reimbursement is admissible on account of levy of any tax etc.
- 8. If contractor or his worker damages any property of the IGNCA, the recovery will be made from the contractor as decided by the Engineer-In- Charge, and decision of Engineer-In-Charge shall final and binding.
- 9. All the safety rules should be followed by the Engineer/Technicians of the firm while working in IGNCA, Institute has no liabilities in case of any accident/mishap.
- 10. Vendor warrants that all Products, at the time of execution of work will conform with all written specifications provided from time to time by Engineer in charge, (b) will be free of defects in material, workmanship, and design, and (c) will comply with all applicable laws and regulations.
- 11. The IGNCA reserves the right to reject any material if not found satisfactory.
- 12. The payment will be made after satisfactory completion of above mentioned work.
- 13. Final amount will be calculated after the completion of the aforesaid work as per actual measurement.
- 14. The quantities mentioned in the schedule are tentative and may be increased or decreased as per site conditions. The rate will remain same for deviated quantities and no claim due to reduction in scope of work will be entertain.
- 15. The Quotations duly filled as mentioned in Schedule of quantity (Annexure A), signed and sealed shall be submitted manually in the office address of The PPS/Incharge, Estate Management Unit, IGNCA, New Delhi-110001

Name	:
Designation	:
Company with Seal	<b></b>
Address	: